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involves suffering losses that may affect the interval payments required for term loans. Debt
financing also increases gearing that may limit the ability of a company to seek further term
loans when required. Equity financing avoid such risks as shareholders bear the losses on such
investments.
Assessing the sources of funds based on cost and risk, the best way to finance the
investment is through a mix of the two sources of capital. The entry into the new venture should
utilize equity financing to test the performance of the entity in the new market. However, after
the testing the market, the company can then use debt financing to increase investment on a
tested and working business model with an element of certainty on cash flows to finance the
repayment plan. A 60% debt financing and a 40% equity financing will be appropriate as it also
raises the return on equity of the shareholders.
Task 3: Cost Accounting
Question 1
Cost accounting ensures that the costs a company incurs have proper records to help
management track costs and make appropriate decisions. The various costs recorded have
various categorizations that include fixed costs, variable costs, semi-fixed costs, and total costs
(Bragg 2016, p5). Fixed costs refer to costs that do not change with the increase in production.
They include rent, advertising, insurance, office salaries, and depreciation. Variable costs refer to
the costs of a firm that change with changes in the levels of production. They include direct
labour, raw materials, royalties, and packaging costs. Semi-fixed or semi-variable costs refer to
expenses that do not in direct proportionality to the production level. The total costs encompass
all costs related to production and include fixed, variable, and semi-fixed costs. Small
paragraphs
Cost accounting has distinct features that uniquely identify its principles of operation. It serves as
a subfield of accounting by establishing a mechanism for accounting for the costs incurred by a
firm (Datar and Rajan 2018, p10). It helps management with relevant information used in the
decision-making process. The data and information provided help to establish standard budgets
and costs. The data derived helps to ascertain product costs and fix prices for goods and services
a firm produces. It also helps a firm to even out inefficiency during production by disclosing
wastage of resources and time.
The discipline of cost accounting serves a core part in the operations of an organization. The
importance of cost accounting includes the classification of costs, price determination, cost
control, and formulation of standards, as the core objectives (Loft 2020, p1919). Classification of
costs entails the categorization of costs that enables coordinated manipulations. Classification of
costs may include fixed, variable, semi-fixed/semi-variable costs, and total costs. Price
determination emanates from an ability to ascertain the cost per unit of a product. Setting a sales
price utilizes the cost per unit to determine the profit margin. Classifying cost enables a company
to understand the various cost categories of a company. The management can trace the cost units
and track their movements. Understanding the specific cost units help management to make
decisions that help to produce the commodities and services at optimal costing. An in-depth
understanding of the cost structures of a given organization enables the firm to establish
standards that help to replicate cost categorizations. The establishment of standards helps to
efficiently manipulate the vast cost data gathered to facilitate the analysis of costs. Cost
accounting has helped establish standards that companies can use to effectively report on
company costs.
Question 2
Part a
i.
Developing a budget too early may producingproduce sources of inaccuracy while forecasting
expenditures and revenues. The ascertainment of costs and revenues depend on assumptions on
certain factors that have time sensitivity. The higher the time variation between cost and revenue
estimation and their actual occurrence increases the deviation of the actual costs from the
forecasted budget values.
ii.
A budget helps to plan the activities of the years and forms the backbone of the company
operations. Delay in budget implementation translates to failure of the planned process that
translates to financial costs for the company. Financial costs include the need to meet recurrent
expenditures and other fixed costs while production has not commenced.
iii.
An incremental budget has the effect of encouraging spending to ensure the next budget receives
an increase. Therefore, the actual expenses may be inflated by the various departments in an
organization to ensure no budget surplus. Overspending of the departments translates to reduced
profits for the organization.
iv.
Buffer stock helps a company to have extra stock in the stores to ensure stockout does not occur.
Stock costs entail the loss of revenue when clients order for goods, but the stock has depleted. It
also has future costs, where the loyalty of clients declines due to the unreliability of the company
to supply goods or services consistently.
v.
The net profit of an organization reports the profit over an accounting year. When the measure of
budget implementation depends on the net profits, it assumes profits distribute evenly over the
year. However, consumer patterns of purchase may distribute unevenly during the year, and
analysing profits before the year ends may show skewed company performance.
vi.
The success of a budget depends on the interdepartmental operations working together toward
the same goals and objectives. The lack of synergy translates to financial costs associated with
duplication of work and standardization of the quality of work output from the departments.
vii.
The implementation of a budget may be faced by challenges during the implementation process
that requires a coordinated effort to implement. The undue pressure on stakeholders to deliver on
targets results in the manipulation of results and does not work together towards a similar
objective. The cost of an uncoordinated effort includes duplication of duties or internal
competition that may negate the achievement of company objectives and translates into losses.
viii.
The preparation of a budget has many assumptions owing to the unpredictability of the future.
However, some factors that affect the market may receive estimations to ensure the budget
figures closely relate to actual figures. Lack of adjusting the budget figures for market trends and
demand may result in grossly varied budget figures against actual figures resulting in poor
performance.
Part b
i.
Other IT technology companies align their budget with that of their clients to ensure that they
match the development in IT of their clients with their advancement in technology to ensure they
develop based on the market trends. However, Exciteco has an incremental budget that does not
align with the budget of their client. This led to the loss of a critical client who had to outsource
services from another client with superior technology but higher prices. Exciteco has to adapt a
budgeting process that considers their clients so they can offer technological changes based on
the plans of their clients to ensure sustainability, considering that technology changes at a fast
rate. The chances of becoming obsolete remain high for a company that does not adapt fast
enough.
ii.
The two departments P and G operate independently and have most of their functions done
independently. This results in the duplication of resources and their consequent underutilization;
thus, wastage of resource remains high. The two departments also work independently with no
coordination of their activities, which led to the loss of a critical client.
iii.
P department refused to offer spare capacity to G to handle the needs of their client and resulted
in the company losing as a whole. This was also due to the highly competitive environment
created by the pressure to perform. The internal environment created results in a lack of
coordination and teamwork working towards a common objective, leading to a collective failure.
Part c
The incremental budget harms the employees at Exciteco as the management operates under
pressure to meet static objectives. The pressure transfers to the employees who operate in
competition with each other. The result is independent operations that duplicate resources and
discourage teamwork and coordination of activities to achieve a common goal. The budget
results in stiff spending with n flexibility provided towards changes that occur in technology on
their clients, which affects the technology demands. This has caused a mismatch o technology as
department G produced smartphones that had obsolete features.
Question 3
i.
The loss of primary customer was partly attributed to the fast-changing technological
environment that meant any slight delay in adapting means loss of business. The fire in the
customer factory was entirely an external factor that could have reduced the demand level. The
loss of prestige status is entirely internal due to the company's refusal to reopen the closed R&D
facility.
ii.
The R&D department was closed because one of the customer's main factories burned down,
thus it was instigated by external factors. However, the opportunity to reopen was presented
which Exciteco refused thus internally contributing to the low revenues.
iii.
The cause of the reduced staff was externally motivated when the customer factory burned and
the demand reduced. However, the opportunity to reopen and regain the lost demand was
presented, and staff could have been rehired to cover the increased demand.
iv.
The rigidity of the operational structure was an internal failure rather than external forces. This is
because the external environment that was a fast-paced technology environment required an
internal environment adapted to the changes. The company had a rigid operating structure that
made them lose primary clients.
v.
The external environment necessitated changes in technology to fit the trend, but Exciteco failed
to adapt to the new changes. The failure to adapt to the changes was due to internal factors rather
than the external environment. The R&D failed to understand the market trends by focusing on
meeting company set targets, thus they focused on their current products at the expense of
changes in technology.
vi.
The failure of coordination between the P and G department to reallocate resources and help G
meet the changing demand of the market was more an internal shortcoming than a problem with
the external environment.
Question 4
i.
Investigating variances acts as an audit of how effective the budgeting process was in predicting
actual values. Finding the sources of the variances and establishing their causes will provide
management with an opportunity to implement changes in the existing operational inefficiency.
The continuous investigation of variances will root out the causes until the actual expenditures
and income closely match the budgeted values.
ii.
A company will understand the factors that lead to variances in a budget. The in-depth
understanding of such factors will allow the management to establish a strategy of changes in
factors identified. However, some factors occur externally and out of the influence of the
company referred to as uncontrollable factors. Other factors incur internally and fall within the
ability of management to influence them and make changes. Therefore, investigating the
variances will enable management to understand and group the variances based on their
controllability and make effective changes.
iii.
Exciteco faces various operational challenges due to the preparation of a budget with an
incremental nature. Investigation of the variances will show that one of the reasons for variation
occurred due to the company adopting an incremental budget against the recommended budget
for companies dealing in technology that plan following the technological changes expected
from their clients. The shift of their budgeting method will result in many operational changes
that will ensure the problem of overproducing on obsolete products and lacking new technology
products does not occur. The new budgeting will avoid such inefficiency and save the company
on costs. The company can change the coordination between departments that saw the company
lose a major client when the P and G department failed to work together and share resources.
iv.
The variances will expose the weaknesses in the current budget and provide an opportunity to
make changes to the next budget. The company duplicated many resources in the organization
that led to high costs for the company. The variances will show such duplication and necessitate
the sharing or resources. The failed reallocation of resources by P to G also showed that the
employees did not work together, then manifested in the low revenues recorded for the year. The
company would ensure that coordinated efforts occur between departments to ensure that the
capacity of the organization is utilized efficiently and optimal owing to the spare capacity that P
had, but did not share with G. It was also clear that although G had reduced their staff from the
closing of primary customer premises, they could have outsourced material and staff from P after
the primary customer reopened.
v.
The research and development department were poorly executed as the staff concentrated more
on meeting targets than on learning the market trends. The cost incurred was producing
smartphones with an obsolete technology that Exciteco clients did not need. The research and
development team should focus on understanding market trends by liaising with their clients to
guide them in developing innovations to fit the market trends.
